Mark Scheme

Q1.
 

[image: image1.jpg]®)

©
@

2413

July and August

April

14
11

B1 (allow incorrect spellings or
‘abbreviations as long as the
intention is clear)

B1 (allow incorrect spelling or
‘abbreviation as long as the
intention is clear)

B1cao
M1 for attempt to read off and

subtract (eg 24-13)
A1 for 11 (accept - 11)





Q2.
 

[image: image2.jpg](a) |x+20+x+5 ax+5=33 3| M1 for sight of 2r e or x+5 0e
M1 for sight of 2¢ e and x+5 oe
A1 for x+ 2x+ x +5 = 33 leading to
ax+5=33
(b) |4x+5=33 7 2 W1 for an intent to subtract 5 from
4x=33-5 both sides or to divide each term
4x=28 by 4 or 33 — 5 or 28 seen or 28,
Alfor7





Q3.
 

[image: image3.jpg]M1 for splitting the shape (or
showing recognition of the “absent”
triangles) and using a method to find
the area of one shape

M1 for a complete method to find
the total area, (= 9 m%)

M1 (dep M1) for a method to find

the number of packs required from
their total area, eg. “9” =2 =4.5
rounded up to 5

M1 for a method to find 75% of
24.80 or 75% of the cost of their
total nunbe of packs, eg. 24.80

93) 0r 24.80 X 15 (=

C1 for a conclusion supported by
fully correct answers, eg. showing 9
(m?), 5 (packs) and 93 or 7 (from
100~ 93)

OR

M1 for method to find 75% of
£2450, eg 2480 X 15 (= 18.6)
M1 for method to find total number
of packs Mary can buy,

eg. 100+ "18.60" = 5.3.... truncated
to 5 or 10 (m?)

MI for finding area of one relevant
shape or showing how one pack (2
) can fit in the diagram

MI (dep on previous M1) for
complete method to show that 5
packs can cover the floor

C1 for a conclusion supported by
fully correct answers, showing the
capacity (10) greater than total area
]





 

Q4.

[image: image4.jpg]*a)

®

1 hour 40
‘minutes

M1 for correct working shown fo find the difference
between 17 50 and 19 30 e.g. using a carry of 60
‘minutes in a take away or counting on from 17 50 to
1930

Al for 1 hr 40 mins or 100 mins

M1 for2x20 — 8.5 (=31.5) or 2085 (=11.5)
M1 (dep) for “31.5” 4.5 or (20+11.5”) =45 or
7% 4.5 0e (eg by addition/subtraction method)

Al cao





Q5.

[image: image5.jpg]@ |10+60+5 75 1 B1 (accept 1 hour 15 minutes or 1.25
hours or 1% hours vith units)

®)0 325pm 2 |B1for3.25 pm oe [accept 3.25 only and
03.25 pm but do not accept 3.25 am o
03.25]
Q0] 2115 B1 for 21 15 (ignore am or pm written)
© |1045-1025 20 2 |1 foran attempt to find the tme
R dfference between 10.25 and 10.45

1025+5+10+5 ALcao





 

Q6.
 

[image: image6.jpg]correct with
explanation

M1 for girls' range = 8 - 2 or boys'
range = 6 1 or comparison of largest
and smallest scores.

A1 for girls' range = 6 and boys' range
=5

C1 (dep on M1) ft for correct
interpretation from candidate's working
and where the two ranges have been
correctly linked with girls and boys





Q7.

[image: image7.jpg]0.06 0 6%

M1for 1-(0.09 + 0.18 + 016 + 0.21 +
030)0e

orR

M1for 100~ (9 + 18 + 16 + 21 + 30) oe
orR

M1 for 1- (%100 + /100 = /100 +
/100 + %100

A1 for 0,06 or 69% (6 only gets AD) or
/100 08

[SC; B1 for 6 on the answer ine without
working, f MO scored]





 

Q8.
 

[image: image8.jpg]Blfors
3

7 has greater C1 for 7 has greater probability oe with correct
probability with reason, g gets a tofal of 7 more often
correct reason





 

Q9.
 

[image: image9.jpg]30

11

oo oo

—lole|o

Hlw[a

41

B3 for fully correct table

(B2 for at least 7 of their
entries correct)

(B1 for at least 4 of their
entries correct)





 

Q10.
 

[image: image10.jpg](1x 18+12+2 x 18)
+
(1041541 x 18+5)

OR
12+410+15+5=
42

1+2+1=4
4x18=72
42+72

Yes they have
raised enough
money

M1for 1x 18+ 12 +2x 18
or Jamie's form completed with correct
18 and 36 and a final total

M1 for 10 + 15+ 1 x 18 + 5 (=48)

or Lily's form completed with correct 18
and a final total

M1 66" + "48" (dep on M1)

At for 114

C1 (dep on M1) for clear comparison
and conclusion using their answer for
the total raised

OR
M1 for 12 + 10 + 15 + 5 (=42) seen
separately from any other total

M1 for (1+2+1) x 18 or 72

M1 for 42" + "72" (dep on 2nd M1)
At for 114

C1 (dep on M1) for clear comparison
and conclusion using their answer for
the total raised





Q11.
 

[image: image11.jpg]Graph completed | 2 | BI for ine from (2.5, 43) to (3.5, 43)
B ftline of correct gradient to axis (after 1% hour)





Q12.
 

[image: image12.jpg]Region shaded

B1 for circle arc of radius 3cm ( 2mm)
centre Burford

B1 for circle arc of radius 5 cm (+ 2mm)
centre Hightown

B1 for overlapping regions of circle arcs
shaded





Q13.
 

[image: image13.jpg](@ Pattemn 1 |81
7.1013,16,19.22.2528.31.34,37.40 | 49 2 |1 for method eg counting up
43.46.49; or 3n+d. in 3s (to at least pattem

number 6. allow errors it
intention is clear), diagram
extension (f), use of 3n+4
(could be shown as part of a
valid calculation eg 15x3) A1
49

®)





Q14.

[image: image14.jpg]1.9 kmor 3| Ml for 1.25 x 1000 (= 1250) or 650 + 1000 (= 0.65)
1900 m M1 for “1250” + 650 or 1.25+70.65”
Al for for 1.9 km or 1900 m





Q15.
 

[image: image15.jpg]Question | Working | Answer | Mark Notes
477m | 4 |MI for intention to subfract the 3 lengths from 10m
47T em MI for 1000~ (41 + 112+ 370) oc or 10— (0.41 + 1.12 +

37)0e
Al'for 477 or 477 0e

B1 for correct units with final answer





 

Q16.
 

[image: image16.jpg]Eg

1045 - 1120 Penguin
feeding time

1200 1245 Jeep safari
1300 - 1340 Dolphin show

1400 — 1425 Steam train

B3 for 4 activities between 1020
and 1430

with correct start times and
correct finish times

(B2 for 2 or 3 activities between
1020 and 1430

‘with correct start times and
correct finish times

BI for 1 activity between 1020
and 1430

‘with correct start fime and
correct finish time)





 

Q17.
 

[image: image17.jpg]15000m | 3 | M for4x 1500 (=6000) or 3 x 3 (=9)

or 15 km M1 correct method to change to consistent units
.23 x 1000 (= 3000) or 1500 = 1000 (= 1.5)
Al for 15000 mor 15 km





 

Q18.

[image: image18.jpg]‘Not enough.
needs £133

M1 for splifiung the shape (or showing recogition of the “absent”
rectangle) and using a correct method to fnd the area of ne shape.

M1 for a complete and correet method fo find the tofl area
M1 for a complete method o find 70% of 19 (= 13.3)or 70% of thei total
cost or 70% of ther area

AL 114(m) and ()13 or 114(n) and (£)13.3(0) and 108(u)

€1 (dep on M2) for a conclusion supported by their calculations

or.
M. for a complete methiod for the number o tins required for one section of
the area of the floor

M1 for a complete methiod to find the mumber of tns fo the whole floor
M for a complete method to ind 70% of thir total mumber of tins and
‘multiply by 19

AL

C1 (dep on M2) for a conclusion supported by their calculations





Q19.
 

[image: image19.jpg]| Question | Working Answer | Mark Notes
¥ Patterned | 5 | Mlfors+7+5+7(=24)
and M1 for (247 +3) ¥ 20 (= 160) or (“24” = 2) 11 (= 132)
Textured or (247 +24) X 145

45)

M1 for two of the above.

Al for 160 and 132 and 145

C1 ft (dep on M3) for Patterned and Textured from a
comparison of 3 costs





 

Q20.
 

[image: image20.jpg][ Question | Working [ Amswer [Mark [ Notes ]
* No 5 |Mlfornx9+2 (S14.137..)ornx5+2
(supported) orfornx 9 (=2827._)orax 5 (=157...)
M1 for complete method to work out perimeter:

242+ (@x9+2) +(xx 5=2) (=2599..)

M1 (dep M1) for method to find number of rolls required for their
‘perimeter,

eg “their total perimeter” 2.4 eg 25.99.<2.4 (=10.8).
“47.98.7+2.4 (=19.9) or "43.98." ~2.4 (=18.3)

M1 for method to work out cost eg 3x10 +2x3.99 (= 37.98).

or 1% 3.99 (=43.89): 20 $67.98. 19563.99

or for method to find how many olls can be bought for £35 (= 10)
C1 for a conclusion supported by fully correct answers eg 37.98
(for comparing with 35) or 10 and 103

OR

Ml fornx9+2 (=14.137..) ormx 5+2 (=7.85..)
orfornx 9 (=2827._)orax 5 (=157...)

M1 for complete method to work out perimeter
eg2+2+(mx9+2)+(wx5+2) (=2599.)

MI for a method to find how many rolls can be bought for £35
(=10)

M1 for a method to work out the coverage of 10 rolls

eg 10 %24 (=24)

1 for a conclusion supported by fully correct answers
eg259(.) and 24





 

Q21.
 

[image: image21.jpg]@) No 2 | Mifor19.5+228(=423)0r40-19.5-22.8(=—2.3)

with or22+19 (=41)
working C1 for statement with No and 42.3 or=2.3 or 41 seen
® 1240 3| M for comect start eg. addition of two times

or subtraction of one time from 1430
MI for a complete method
Al for 12 40 (pm)





 

Q22.
 

[image: image22.jpg]Half way round x 2 =
(042 + 2043) x 2

X+ 5
Perimeter = 2(3x + 5)

B1 for x +2 or 2¢ + 3 seen
M1 for perimeter = "x+2" + "2x+3"
+20+x+3+20e

A1 for 6x+ 10

C1 (dep) for factorising 6x + 10 to
give 2(3x + 5)

OR

B1 for x+2 or 2¢ + 3 seen
M1 for 2 x ('x+2" + "2x+3")

A1 for 6x+10

C1 (dep) for doubling 3x + 5 to
give perimeter = 2(3x + 5)





Q23.
 

[image: image23.jpg]®)

Missing sides are
2c+1and3x+3
Perimeter = 5x+ 1+ X+
Br 234241430
+3

OR
25r+1) + 22+ 3+ 1)

160+8 3 |M1forsx+1-3xorax+3+xor
identifying a missing side as 2¢ + 1
or 3x + 3(maybe on the diagram)
M1 for adding 5 or 6 sides from x,
5x+1,30 2043, 20+ 1, B+ 3
where the missing sides are in the
form ax + b (a and
0#0)
Or 2(5x+ 1) +2(2x + 3 +) o€

A1 for 16x + 8 oe for unsimplified
expression

ax+2 1
B ftfor [2(5x+1)+2(20+3+
X)]+40r ("16x+8") < 4
e where the answer is an
algebraic expression in x





Q24.
 

[image: image24.jpg]@)

®)

©

ax+1

45

145

M1 forx+x+1+2x (= 19)
A1 for 4x + 1= 19 following working

M1 for subtracting 1 from both sides
or for dividing each term by 4.
A1 ford.50r 4%

M1 for (45'+1)+2x'45 or 19—
b

or 3x'45+1
A1 for145 or 14% or 45





Q25.

[image: image25.jpg]38

Ml3x-5=19-x
M1 for a correct operation to collect the x terms or the
tmumber terms on one side of an equation of the form
arvb=cr+d

Al forx
M1 for substituting their value of x i the three
expressions and adding or substituting their value of x

after adding the thre expressions
Alcao





Q26.
 

[image: image26.jpg]@

®

1

MI for 2v or 2¢~ 3 seen
M1 for x and 2x and 2t~ 3
Al for 5y 3 = 52 from correct working

M for intention to either add 3 to both
sides or divide all terms by 5 as a first step
Al cao





Q27.
 

[image: image27.jpg]1155+15=77
x+2+x=7=77
@-7=77
=84

x=21

OR
15x+ (15%20) +
150-7) =1155

60x— 105 =1155
60x = 1260
x=21

Redlands 21
St Samuels 42
Francis Long 14

M1 for 2x orx~7

M1 for 1155 + 15 (= 77)

M1 (dep M2) for equation
summing their three expressions to
e

Al for 21,42 and 14

C1 for fully correct answer with
correct labels

OR

MI an expression for the cost of
the pupils from Redlands

MI for expression for the cost of
the pupils from either St Samuels
or Francis Long

M1 (dep M2) for equation
summing their three expressions to
1155

Al for 21.42 and 14

C1 for fully correct answer with
correct labels





 

Q28.
 

[image: image28.jpg]M1 for 7x+22 or (5x+2) or 7b +22p or 5b+ 2p
M1 for forming equation 7x + 22 = 2(5x + 2)

M1 for correct mtent to isolate x on one side

Al cao





 

Q29.
 

[image: image29.jpg]@

®)

Data
collection
sheet

432

'B1 for lemonade and cola

and orange (squash)
B1 for tallies

B for frequency or fofal oe

M1 for cost of 2 bottles of
orange and 3 bottles

of lemonade
M for finding % of a cost
M1 (dep on M2) for correct
‘method to find change
Al cao





 

Q30.

[image: image30.jpg](@

®

B2
(B any isomeric face correct)

M1(1)x2x3

Al6

OR
Mlfor2x4x6+2x2x2)
Al6





Q31.
 

[image: image31.jpg]@ 8 1 [Blco

® 30 2 |Mifor8+4+6+120r7x4+2
Al cao
@© 4 circles 1 |Blcao





 

Q32.
 

[image: image32.jpg]M1 for a 2-way table or diagram
showing at least 3 pieces of
information correctly placed

M1 17 girls or 4 boys with sialom
skis

M1 12 boys with downhill skis or 4
girs with twin tips.

At cao

OR

M1 for 40 - 23 (= 17)

M1 for one part subtraction ie "17" —
8or"7" -5

M1 for ("17" ~8) = 5 o (17"~ §) -
8

A1 cao





Q33.
 

[image: image33.jpg]| Question | Working | Answer | Mark Notes
*(a) Diagramor | 4 | BI for key or suitable labels to identify Paris and Nice
chart B1 for diagram(s) or chart(s) set up for comparison

showing data for at least three days. eg dual bar chart,
composite bar chart
BI for correct heights for Paris or Nice
C1 for fully correct diagram or chart with axes
correctly scaled and labelled

) Statement 1| C1 for statement of comparison





 

Q34.
 

[image: image34.jpg]@ Kite drawn T Bl

®) Rectangle drawn | 2 | M1 for rectangle drawn or any shape with
with perimeter ‘perimeter 14 cm.
14cm Al for a rectangle with perimeter 14 cm
© 2 lines of 2| Bl for horizontal or vertical line of symmetry
symmetry dravn B1 for horizontal and vertical line of symmetry

and no extra lines.





Q35.
 

[image: image35.jpg]Straight (Table of values)
X[ Z 1] 0 [ 1173 line from Cl foraxes scaled and labelled.
VTS 33| 2N M1 for atleast 2 correct attempts to find
@G.3) points by substituting values of x

M1 ft for plotting at least 2 of their points
(any points plotted from their table must
be plotted correctly)

Al for comect line betweenx=—2 and x =
3

(No table of values)
C1 for axes scaled and labelled.

M1 for atleast 2 correct points with no
more than 2 incorrect points

M1 for atleast 2 correct points (and no
incorrect points) plotted OR line segment
of y=2x-3 dravn

AT for correctline betweenx=—2 and x =
3

(Useofy =mx+0)

C1 for axes scaled and labelled

M1 forline drawn with gradient of 2 OR
line drawn with a y intercept of 3

M1 forline drawn with gradient of 2
AND with a intercept of -3
Al for correct line betweenx
3

2andx=

[SC B2 (indep of C1) for the correct line
between x=0 and x=3, ignore any
additional incomrect line segment(s)]





 

Q36.
 

[image: image36.jpg]|

B2 for a single 46 rectangle drawn
anywhere on the grid

(B1 for a single 4xn rectangle or a single:
mx6 rectangle

drawn anywhere on the grid)

Note: All nets and 3-D sketches get NO
marks





Q37.
 

[image: image37.jpg]3cmx6ecm 2 B2 cao
rectangle (B1 for a rectangle with one correct side)





Q38.
 

[image: image38.jpg]Reflection in y axis

2

B1 for any 2 lines of correct length or
correct enlargement with scale factor n,
n#3

B1 for correct enlarged shape drawn
anywhere on grid

B1 for Reflection

B1 for y axis or x= 0.

NB: If more than one transformation
indicated then no marks





Q39.

[image: image39.jpg]10c+15d

2%-7

Bleao

M forx+x+3+2x (= 4r+3)
M for 26v~2) (= 6v—4)
M1 for 6¢' —4x' — 4 3’ 0e
Alcao

oR.

M1 for 26 —2) (= 6v-4)
M1 for 6r'— - x—2x
M for 4 %3
Alcao

) 0e





Q40.
 

[image: image40.jpg]* ‘Quick Mix 4 | Mifor13.50+4 % 690 (=4L1)
from correct M1 for 7.20 (4 +1) +5.90 (=41.9)
working Al for 41.1(0) and 41.9(0) if working seen
C1 ft (dep on M1) for a statement of Quick Mix with
‘amounts clearly associated with correct companies





Q41.

[image: image41.jpg]Question Working Answer Mark Notes
(@) Pixar 1 [B1cao
() Pixar, Tacco 1 [B1cao
(© Crystal 1 [B1cao
(@ 1273 4| W1 for 112100 or 12 seen

M1 for 245 12" or sight of digits
294 Do not allow 12" to be 100
M1 (dep on one prior M1) for
979+2.94'

A1 cao





 

Q42.

[image: image42.jpg]Question Working Answer Mark Notes.
eg 5 | B1foracorrect departure time
1512 (one with an associated arrival
15 40 time at least 30 mins before fim
4:15pm start time)
1930 B1 for correct associated arrival
1955 time in Peterborough from a

correct departure time from
Bourne or Baston

B1 for either 4:15pm or 5:15pm
with one correct bus time)

B1 for a correct departure time (at
least 2hrs 4dmins after fim start
time)

B1 for correct associated arrival
time in Baston





 

Q43.
 

[image: image43.jpg]x| @ 45 T |Blcao
®) Comparison (supported) | 3 | M1 for correct use of graph to convert 0°F info
“c

Alfor -175t0-18

1 (dep MI) for correct comparison of relative
temperatures with units correct.

eg freezer is warmer with ~18°C o f using
their converted temperature with correct units.

OR

M1 for correct use of graph to convert ~10°C
into °F

Alfor14

1 (dep MI) for correct comparison of relative
temperatures with units correct.

eg freezer is warmer with 14°F or ft using their
converted temperature with correct units.





 

Q44.
 

[image: image44.jpg]“(b)

Yes + evidence

M1 for 15 = 6 oe
At for2.50r 2%

M1 for a correct method to change 15
miles into kilometres

C1(dep on M1) for 24 km and statement
with correct conclusion

[SC: B1 for "Yes" oe and 24 km shown if
MO scored]

OR

M1 for a correct method to change 20
Kilometres into miles

CA(dep on M1) for 125 miles and
statement with correct conclusion

[SC: B1 for "Yes" oe and 12.5 miles
shown if MO scored]





Q45.

[image: image45.jpg]@
®)

Bl accept 143~ 147

M1 for carrying out a correct measurement of one of the lines

€g(AC9)103-107 or (BCa5)78-82 or (ABa9)63-
67

M1 for scaling at any stage (by <2)

M1 for complete process of lengths AC — (AB + BC)  scaled or
unscaled

Al foranswerinrange 7 -9





Q46.

[image: image46.jpg]731 4| M1 for 8 comect method to work out the total cost (= 16.92)
M1 for a correct method o find 1 of their total cost (or 2 )
3 T

M1 (dep on at least M) for subtraction rom £20
Alco





Q47.
 

[image: image47.jpg]95° with MI for angle DBC = 180 - 125
reasons or angle EAC = 180 — 125 (=55) (May be on diagram)
Alforx= 95
C2 (dep on M1) with full reasons for their given method.
eg

angles on a straight line add up fo 180° and angles ina
triangle add up to 180° and corresponding angles are
equal

or allied angles / co-interior angles add up to 180°

and angles in a triangle add up fo 180°
(C1 (dep on M1) for one appropriate reason linked to
parallel lines)

M for angle CDB = 125 - 30 (=95)) (May be on
diagram)

Al forx= 95

C2 (dep on M1) for full reasons, for their given method.
eg

exterior angles are equal to the sum of the interior
‘opposite angles and corresponding angles are equal
(CI (dep on M1) for one of these appropriate reasons
finked to parallel lines)





 

Q48.
 

[image: image48.jpg]* 180-(68+68)]  88° 4 | Ml for 180~ (68 + 68) (= 44)
=44 M1 dep for completing method
44+44=88 to find angle y
44+ 44 or 180 - (180 - 44— 44
)
Al fory=288

C1 for fully correct appropriate
reasons for complete method
used

Base angles of isosceles triangle
are equal

Angles in a triangle add up to
180°

Exterior angle of a triangle
‘equals sum of the interior

opposite angles

or
Angles on a straight line add up
to 180°

NOTE - If angles or working is
incorrectly assigned either in
working or on diagram, award
Mo





 

Q49.
 

[image: image49.jpg]@
®
©
©

@
(i)

Response

Bl cao
Bl cao
Bl cao

B for “divide 45 by 3" or “divide 30 by 2" or “a
third of the squares are grey” oe





 

Q50.
 

[image: image50.jpg]687

M1 formxdx4 or Wxd4Z or mx
16 or
2 = 50.26.
M1 for'm? =2
M1 for8x4-'m?=2'
A1 for6.86-6.88






Q51.
 

[image: image51.jpg]Reasons:
base angles of
isosceles triangle
are equal

with either
angles in a triangle
add up to 180°
and

angles on a
straight line add up
to180°

or

angles in a triangle
add up to 180°
and (exterior angle
of a triangle is
equal to the sum of
the interior
opposite angles)
or

angles in a triangle
add up to 180°

60° with reasons

M1 for angle DCB = 20°
M1 for a complete method to find x

C1 (dep on at least M1) for one reason
with correct geometrical language used
C1 (dep on M2) for 60 with full reasons
with correct geometrical language used





Q52.
 

[image: image52.jpg]M1 for (angle YXZ =) 360 — 300 (=60)
M1 for (angle XYZ =) 180 — 145 (=35)

At cao

C1 (dep on 1) for ful reasons and
unambiguous notation for angles (may be
shown in diagram)

(angles around a point sum to 360 and
angles on a straight line sum to 180 and
angles in a triangle sum to 180)





Q53.
 

[image: image53.jpg]360 - 200 - 90
(=70)

(180 -'70") =2
angles at a point
add to 360°,
angles in a triangle
add to 180°, base
angles of an
isosceles triangle
are equal

y=55
reasons

M1 for 360 — 200 - 90 oe
M1 for (180 - '70') = 2
Reasons: angles at a point add up to

angles in  triangle add up to
180°

base angles of an isosceles
triangle are equal
C2 for y = 55° and all correct reasons
Note: An answer of 55° alone. is not
enough; y = 55° must be explicitly stated
or clearly shown on the diagram
(C1 for one correct reason)
Note: the award of any C mark is
dependant upon the award of at least M1





Q54.
 

[image: image54.jpg]@

®

788899101314

Girls median is 9

Boys' mean is 9.5(55...)
Girls' mean is 10

Boys’ range is 7

Girls’ range is 8

Comparison

M1 Put in ascending or
descending order o select
middle value (7) from
unordered list

Al19 cao

B1 Girls' median is 9 or
(boys' mean = 9.5(55...) and
girls' mean = 10)

Also allow comparison of
minimum or maximum
values

B1 Girls' range = 8 and boys'
range =7

C1 Comparison of medians
(ft) or means

C1 Comparison of ranges
()

At least one comparison
must be in context for the
award of both C marks





 

Q55.
 

[image: image55.jpg]ax> 11
x> 13 01 3.66.
OR
(16-5)=3
"4 0r 3.66.

®)

B2 for correct 5 values which may be in
any order with no repeats.

(B1 four correct values and none
incorrect or -2, -1, 0,1, 2, 3)

M13x>110r3r>16-50r3x+5-5
>16-5

A1 1501 3.6(86..) 0r 3.7
(Accept = or 2 in place of >)

Bift

OR

M1 (16-5) =3

A1 "40r3.6(66.. ) 0or 3.7

B1 1





Q56.
 

[image: image56.jpg]] 7 2 Mifor Boe
15 30
Al cao
® 2 1 |Bleao
© 2| M foratleast  of the S rows correct
Al cao

SC if MO scored: B1 for 2 symmetrical
pattern with more than 6 squares shaded
‘but not all shaded.





Q57.
 

[image: image57.jpg]@ B 2| mt for B or equivalent fraction
12 360
Al cao
®) a2 2 | M1for60+12 (=5)0r210+60 (=3.5)0e
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Alcao
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a Alforx=115

straight line = 180)
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(x=)360 ~ 135~
110

(sum of exterior
angles of a
polygon = 360)





Q62.
 

[image: image62.jpg]N x=150° 3 | M1 for 180 - (65 + 65)

awc with A1 for x =50 cao
complete C1 (dep on M1) Base angles of an
reasons isosceles triangle are equal and angles

in a triangle add up to 180





Q63.
 

[image: image63.jpg]‘base angles of ssosceles 60°with | 4 | Bl for angle ADB =25 can be shown on

triangle are equal and reasons the diagram
‘angles on a straight line add M1 for a complete method to find x
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base angles of jsosceles
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is cqual to the sum of the
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M1 (dep) for correct method o calculate x
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co-interior angles (allied angles) add upto 180°

30 and full appropriate reasons related to method.
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"MI for (angle BDC =) 360 - 250 (=110)
M (dep) for 180~ (180~ 110"~ 38) (= 148)
orfor ‘110" +38 (=148)
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Angles ata point add up to 360°

‘and angles in a riangle add up to 180°

‘and angles on a straight ine add upto 180%
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Angles ata point add up to 360°

‘and exterior angle of a triangle is equal o the sum
of the interior opposite angles or

(C1 (dep on atleast M1) for onereasan relevant to
correct method)
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Al cao

C1 base angles of an isosceles friangle are equal and the
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M1 for complete method to find angle BAC e.g (180~
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g 70+ 55" (=125) and “125" ~80

Alcao

C1 base angles of an isosceles triangle are equal and the
exterior angle of 2 triangle is equal to the sum of the two
interior opposite angles
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explanation
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M1 for addingall 10 scoresand dividing by 10
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M1 (ft from (b)) addingall 12 scores and
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or comparing 4 2 with 2 x *1.8"

C1 (ft from (b)) for correct conclusion and
correct explanation

NB:if M1 Al awardedin (b) comparison must
bewith 1.8





 

Q69.
 

[image: image69.jpg]®)

©

No with
‘appropriate
reason
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M1 for correct diagram of pattermn
number 10 with or without shading
Al cao
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M1 for any 4 consecutive terms in
the sequence 4. 7. 10,

Al cao
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M1 for use of 3n + 1 with n = 10
Al cao

M1 for attempt to divide 45 by 3
A1 for 'No' and comment that this
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number 15
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M1 for starts at 4 and builds up
correctly to 46 or 55

A1 for 'No' and comments that 55
are needed for pattern 18 or 46
are needed for pattem 15 oe
OR

M1 for use of an + 1 with n =18
A1 for 'No' and comments that 55
are needed for patter 18 oe
OR

M1 for 3n +1= 46

A1 for 'No' and comments 46 are
needed for pattem 15 oe
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complete the solution

A1 for 0.35 or 35% or %) 0e
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B1 for a valid reason that demonstrates
the understanding that the number of
triangles s twice the pattern number
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B1 for any correct reason, e.g. terms are
all odd but 372 is even or use of nth
term 47— 1 or not 1 less than a multiple
of 4
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(7.11). (8.13). Al cao
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Subtract 3

23
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Eg. 'subtract 3' or 'goes down by 3' oe or 'take-away
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17
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<8486 =69 method to findmeanc.g
69+10 sum =10

Al for6.9
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CSHSYC

CYSHSC

M1 for any route starting and ending at C going through H. S
and Y. Condone missing last section back to C

M1 for a valid route for which their comrect fofal is shown
Alfor2s5.1

Bl fi for communicating their shortest route (must start and
endat C and pass through S. H and Y)
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“4 . or equivalent values, 4:20 oe,
or identification of 5 as the scale
factor of enlargement.

Al cao

C1 (indep) for units: cm stated on
answer line or with "20" in the
working space if not given on
answer line.





Q82.
 

[image: image82.jpg]@ L5 1 |Blcao

®) Point D 1 |Blao
marked.





 

Q83.
 

[image: image83.jpg]@ 6 T |Blcao

®) 44 1 |Blao

© 33104041133 1 |Blao
0r8,4,60r6.4.8





 

Q84.
 

[image: image84.jpg](@) square  thombus | 1 |B1cao

() trapezium 1 |Blcao

(©) rhombus 1 |B1cao





Q85.
 

[image: image85.jpg]@)
®)
©

parallelogram
isosceles

6

B1  Allow trapezium

B1
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Note: For dots to be a valid method
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of6
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cats oe
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2° ignore labels, or one correct angle
calculated

A1 for any two angles (TC or Ka or Co)
correct in pie chart. + 2° ignore labels
A1 for fully correct and labelled pie
chart All angles £2°
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@) 105-11 | 1 |Blforl05-11
() |eg 151s=63 132 3| M1 for converting 150 Ibs to kg
ke M1 for addition of 150 pounds and 64 kg in consistent uaits
So. 150 Ib Al for 130- 134 kg
68k
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eg.12+6

275x12x8

2x12

264

B1cao

M1for45x12-3x120r (45—
3)x12.0r 12+ 6 or 6 seen

M2 for complete method seen,
"2.75x12"x8 Or "12+12+9"x8 o
275 x 8"x12 Or "33"x8

"96" +"96" + 72" or the digits 264
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(M1 for 2.75x12 or 12+12+0 or
24+9 or "33 Or 2.75%8 Or 12x8 or
24x8 or 9x8 or 192 seen or 96
seen or 72 seen)

A1 cao

(SC M1 (12+12+8)x8 but not
32x8)

Note: The method marks can also
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0.08
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A1 ft from their readings in (a)
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11
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or 10% (% needed)
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Al for No with 36
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© Yes (supported) | 1| C1 for Yes with reason eg “the number of squares
isalways even
(and 50 is even)” oe.

@ 38 1 |Bleaao





 

Q95.
 

[image: image95.jpg]@
®)

Blcao

M for method to find total number of apples
sold

eg 4+6+80+3 (=30)
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) 19 3 | Ml for method to find the angle for 15 years (= 95). if

measured aceept 93~ 97
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Alcao
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Bar chart
completed

Comparison

B1cao

B2 for bars of correct length,
correctly shaded

(condone Sophie's bar left
unshaded)

(B1 for one correct length bar with
correct shading or two correct
length bars with incorrect or no
shading)

B1 for one correct comparison,
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the Intemnet) at the beginning of
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(Note: if candidates quote total
amounts of time spent on the.
internet they must be correct or
support by evidence of how they
got them.

Sophie: 215min or 3n35min
Zach: 240min or 4h)
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(cm) or method to find fofal length
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SCBI for 44
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